# REGISTRATION AND TUTION FEE OF BACHELOR'S DEGREE PROGRAMS FOR INTERNATIONAL STUDENTS EFFECTIVE ACADEMIC SESSION 2022/2023

#### **PAYMENT UPON REGISTRATION**

## A. Fees for Registration to Programmes:

FEES		INTERNATIONAL STUDENTS	
	1223	UUM SINTOK (RM)	
a.	Registration Fee <sup>1</sup>	2,050.00	
b.	Service Fee in Semester	680.00	
C.	Accommodation Fee in Semester	570.00	
d.	Tuition Fee Semester	- Refer item (i) -	
e.	Personal Bond <sup>2</sup> (refundable)	- Refer item (ii) -	

# B. Fees for Registration for Intensive English Programme: (for students who do not meet the English language requirements only)

FEES	INTERNATIONAL STUDENTS		
1223	UUM SINTOK (RM)		
a. Registration <sup>1</sup>	2,050.00		
b. Intensive English Language Course	2,880.00		
c. MUET Test Package Fee	1,000.00		
d. Service Fee in Semester	680.00		
e. Accommodation Fee in Semester	570.00		
Total payment	7,180.00		
Personal Bond (Refundable)	- Refer item (ii) -		

# Note:

- <sup>1</sup> Included Medical Check Up Fee RM 200.00 and Alumni Fee RM 50.00.
- Personal bonds vary by country, ranging from RM200 to RM2,000. This bond is payable upon registration.
- \* The process payment of visa is made directly to EMGS when students submit their visa application online. However, the student pass fees vary by country and are paid to the Immigration Department.

# i) Tuition Fee

PROGRAMME	TOTAL SEMESTER	TUITION FEE/ SEMESTER (RM)	TOTAL TUITION FEE (RM)		
SCHOOL OF MULTIMEDIA TECHNOLOGY & COMMUNICATION					
UU6321001 Bachelor of Communication with Honours	7	4,700	32,900		
UU6213001 Bachelor of Media Technology with Honours	7	4,700	32,900		
UU6213003 Bachelor of Science with Honours (Multimedia)	7	4,700	32,900		
SCHOOL OF CREATIVE INDUSTRY MANAGEMENT & PERFORMING ARTS					
UU6210001 Bachelor of Creative Industry Management (Honours)#	7*	4,700	32,900		
SCHOOL OF COMPUTING					
UU6481001 Bachelor of Science with Honours (Information Technology)	7	4,700	32,900		
UU6481003 Bachelor of Computer Science with Honours	7	4,700	32,900		
SCHOOL OF QUANTITATIVE SCIENCES					
UU6461001 Bachelor of Science with Honours (Business Mathematics)	7*	4,200	29,400		
UU6462001 Bachelor of Science with Honours (Industrial Statistics)	7	4,200	29,400		
UU6462002 Bachelor of Science in Decision Mathematics and Data Analytics with Honours	7*	4,200	29,400		
TUNKU PUTERI INTAN SAFINAZ SCHOOL OF ACCOUNTANCY					
UU6344001 Bachelor of Accounting with Honours	7	5,000	35,000		
UU6344002 Bachelor of Accounting (Information System) with Honours	7	5,000	35,000		
SCHOOL OF ECONOMICS, FINANCE AND BANKING					
UU6314001 Bachelor of Science Economics with Honours	7	4,200	29,400		
UU6343001 Bachelor of Finance with Honours	8	4,200	33,600		
UU6343003 Bachelor of Banking with Honours	7*	4,200	29,400		
UU6343004 Bachelor of Risk Management and Insurance with Honours	7*	4,200	29,400		
UU6345004 Bachelor of Sciences Agribusiness Management with Honours	7	4,200	29,400		
SCHOOL OF LAW					
UU6380001 Bachelor of Law with Honours	8	5,000	40,000		
ISLAMIC BUSINESS SCHOOL					
UU6343002 Bachelor of Islamic Finance and Banking with Honours	8	4,200	33,600		
UU6345010 Bachelor of Muamalat Administration with Honours	8	4,200	33,600		
SCHOOL OF GOVERNMENT					
UU6345002 Bachelor of Public Management with Honours	7*	4,200	29,400		
UU6345008 Bachelor of Development Management with Honours	7*	4,200	29,400		
SCHOOL OF BUSINESS MANAGEMENT	SCHOOL OF BUSINESS MANAGEMENT				
UU6345003 Bachelor of Business Administration with Honours	7	4,200	29,400		
UU6345005 Bachelor of Human Resource Management with Honours	8	4,200	33,600		
UU6342001 Bachelor of Marketing with Honours	8	4,200	33,600		
UU6345011 Bachelor of Entrepreneurship with Honours	7	4,200	29,400		

	PROGRAMME	TOTAL SEMESTER	TUITION FEE/ SEMESTER (RM)	TOTAL TUITION FEE (RM)	
SCHOOL OF APPLIED PSYCHOLOGY, SOCIAL WORK AND POLICY					
UU6762001	Bachelor of Counselling with Honours#	8	4,200	33,600	
UU6762002	Bachelor of Social Work Management with Honours#	8	4,200	33,600	
SCHOOL OF	INTERNATIONAL STUDIES				
UU6345006	Bachelor of International Business Management with Honours	7*	4,200	29,400	
UU6345007	Bachelor of International Affairs Management with Honours	7*	4,200	29,400	
SCHOOL OF	TECHNOLOGY MANAGEMENT & LOGISTICS				
UU6481002	Bachelor of Technology Management with Honours	7	4,200	29,400	
	Bachelor of Business Administration (Logistics & Transportation) with Honours	8	4,200	33,600	
UU6345012	Bachelor of Operations Management with Honours	7	4,200	29,400	
SCHOOL OF	TOURISM, HOSPITALITY & EVENT MANAGEMENT				
UU6811001	Bachelor of Hospitality Management with Honours	8	4,200	33,600	
UU6812001	Bachelor of Tourism Management with Honours	7	4,200	29,400	
UU6812002	Bachelor of Event Management with Honours	7	4,200	29,400	
SCHOOL OF	LANGUAGES, CIVILISATION AND PHILOSOPHY				
UU6224001	Bachelor of Applied Linguistics and Business Administration with Honours	8	4,200	33,600	
UU6227001	Bachelor of Applied History with Honours	7	4,200	29,400	
UU6222001	Bachelor of Arts Linguistics and Information Technology with Honours#	8	4,700	37,600	
UU6222002	Bachelor of Arts in Contemporary Literature and Creative Industry Management with Honours#	8	4,700	37,600	

# Note:

- \* 6 semester + 1 short semester
   # interview programme
   Tuition fees will be charged during the semester students undergo practicum.

## ii) Student Personal Bond

All international students are required to pay a personal bond which is refunded upon the completion of their study. The rate of the personal bond is listed below:

## **PERSONAL BOND CHARGES**

Countries	Rate in Malaysian Ringgit (RM)	Countries	Rate in Malaysian Ringgit (RM)
Canada	2,000.00	Australia	1,500.00
USA	2,000.00	British C.I	1,500.00
Colombia	2,000.00	Brunei	1,500.00
Angola	2,000.00	China	1,500.00
Burkina Faso	2,000.00	Europe	1,500.00
Burundi	2,000.00	Iran	1,500.00
Cameroon	2,000.00	Iraq	1,500.00
Central African Republic	2,000.00	Portugal	1,500.00
Republic Congo	2,000.00	Taiwan	1,500.00
Republic Democratic Congo	2,000.00	Tunisia	1,500.00
Cote D'Ivoire	2,000.00	Vietnam	1,500.00
Djibouti	2,000.00	Japan	1,000.00
Equatorial Guinea	2,000.00	South Korea	1,000.00
Eritrea	2,000.00	Масао	1,000.00
Ethiopia	2,000.00	Hong Kong	1,000.00
Guinea-Bissau	2,000.00	Bangladesh	750.00
Ghana	2,000.00	Philippines	750.00
Liberia	2,000.00	India	750.00
Mali Mozambique	2,000.00	Myanmar	750.00
Niger	2,000.00	Nepal	750.00
Nigeria	2,000.00	Pakistan	750.00
Rwanda	2,000.00	Sri Lanka	750.00
Western Sahara	2,000.00	Indonesia	500.00
Saudi Arabia	1,500.00	Thailand	300.00
Africa	1,500.00	Singapore	200.00

<sup>\*</sup> For countries not listed in this schedule, the rate of bond is RM 1,500.00.

<sup>\*</sup>All fees and charges stated here are subject to the University's decision.

The University has the right to review the fees from time to time.